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Multiply Two Polynomials

g(x) =a,; x19+a, x>+ az x

h(x) = b, x21 + b, x13 + by x11+ b, X’
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Multiply Two Polynomials

g(x) = a, X1+ a, x5+ a; X ?

> (0 =0g() h)

h(x) = b, x21 + b, x13 + by x11+ b, X’
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Multiply Two Polynomials

?

> (0 =0g() h)

{g(x):a1x10+a2x5+a3x

h(x) = b, x21 + b, x13 + by x11+ b, X’

a, X1 -h(x) = a, xt. (b, x? + b, x1*+ by x11+ b, x7)
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Multiply Two Polynomials

?

> (0 =0g() h)

{g(x):a1x10+a2x5+a3x

h(x) = b, x21 + b, x13 + by x11+ b, X’

10+21
a, b, x

/ ™\

a, X1 -h(x) = a, xt. (b, x? + b, x1*+ by x11+ b, x7)
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Multiply Two Polynomials

> (0 =0g() h)

{g(x):a1x10+a2x5+a3x ?
- 21 13 11 7
h(x) = b, x21 + b, x13 + by x + b, x
al b2 X10+l3

10+21
al bl %\

a, X1 -h(x) = a, xt. (b, x? + b, x1*+ by x11+ b, x7)
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Multiply Two Polynomials

> (0 =0g() h)

10+13
a, b, x a, b, x10+11

10+21

a, X1 -h(x) = a, xt. (b, x? + b, x1*+ by x11+ b, x7)

{g(x):a1x10+a2x5+a3x ?

h(x) = b, x21 + b, x13 + by x11+ b, X’
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Multiply Two Polynomials

> (0 =0g() h)

10+13
a, b, x10+ a, b, x10+11

a, X1 -h(x) = a, xt. (b, x? + b, x1*+ by x11+ b, x7)

{g(x):a1x10+a2x5+a3x ?

h(x) = b, x21 + b, x13 + by x11+ b, X’
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Multiply Two Polynomials

> (0 =900 hX)

{g(x):a1x10+a2x5+a3x ?

h(x) = b, x21 + b, x13 + by x11+ b, X’

a, b, x10+13 for (j=0; j<h.size(); j++)

{
a, by X195 tmplj].coef = g[i].coef * h[j].coef;
tmplj].degree = g[i].degree + h[j].degree;
a, x1°.h(x) = a, x0. (b, x2*+H }
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Multiply Two Polynomials

{g(x):a1x10+a2x5+a3x ?

> (0 =900 hX)

h(x) = b, x21 + b, x13 + by x11+ b, X’

a,b, x| for (=03 <h ize() )
tmplj].coef = g[i].coef * h[j].coef;
tmplj].degree = g[i].degree + h[j].degree;

a, x1 . h(x) = a, x©. (b, x?1+H }
+
a,x>-h(x) = a,x> (b x21+ b, x3+ by x!t+ b, x")

30



Multiply Two

g(x) = a, x10 + a, X5 + a, X

{ h(X) = bl X21 + b2 Xl3 + b3 Xll + b4 X7

Polynomials

?

> )= 909 hY)

10+13
a, b, X

for (j=0; j<h.size(); j++)

{
tmplj].coef = g[i].coef * h[j].coef;
tmplj].degree = g[i].degree + h[j].degree;

}

a; x19-h(x) = a; x¥0. (b, x2*+
+
a,x5-h(x) = a,x% (b, x21+h,
+
azx-h(x) =

X133 + b, X1t + b, X7)

g X - (by X1 + b, x13 + by xtt+ b, X7)
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Multiply Two Polynomials

?

{g(x):a1x10+a2x5+a3x

h(x) = b, x21 + b, x13 + by x11+ b, X’

f(x) = 9(x) h(x)

10+13
a, b, x

for (j=0; j<h.size(); j++)

tmplj].coef = g[i].coef * h[j].coef;
tmplj].degree = g[i].degree + h[j].degree;

{
a, x1 . h(x) = a, x©. (b, x?1+H }
+
a,x-h(x) = a, x> -(b;x21+b,xB+b;xtt+Db,
+
a;X-h(x) = agx-(b;x21+b,xB+by;x+b, X

for (i=0; i<g.size(); i++)

{

for(j....)

{

}

f.addEqual(tmp);
}
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Multiply Two Polynomials

?

{g(x):a1x10+a2x5+a3x

h(x) = b, x21 + b, x13 + by x11+ b, X’

f(x) = 9(x) h(x)

10+13
a, b, x

for (j=0; j<h.size(); j++)

tmplj].coef = g[i].coef * h[j].coef;
tmplj].degree = g[i].degree + h[j].degree;

{
a, x1 . h(x) = a, x©. (b, x?1+H }
+
a,x-h(x) = a, x> -(b;x21+b,xB+b;xtt+Db,
+
a;X-h(x) = agx-(b;x21+b,xB+by;x+b, X

for (i=0; i<g.size(); i++)

{

for(j....)

{

}

f.addEqual(tmp);
}
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